Name

ORDER OF OPERATIONS .

@

OF:39
) X
Example 1: 1%><6—<%> Example 2: 1.55+0.5*°-4.9+7
1l 1 =1.55+025-49+7
—14><6 7
151 =1.55+0.25—0.7
2 4 ~18-07
_29 1
=2 %73 =1.1
Solve each expression.
2. _ 4_ 52, .4 (1)
) 6°=3.6+28.13—44.13 ) 23 35+15x<3>
2 ¥ .2 .11
3) 07-32+09 4) 4><<5>—3§73+11
7.,.3.(3)_31 N S
5) 6+4.<4> 32 6) 1.8=006+2°x24—198
2.5 .51 3_ N
7) St o 2 8) 022-183+225+15
©)
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Name

ORDER OF OPERATIONS .

®

Answer key OF:39
) X
Example 1: 1%x6—<%> Example 2: 1.55+0.5*°-4.9+7
1l 1 =1.55+025-49+7
—14><6 7
151 =1.55+0.25-0.7
2 4 ~18-07
_29 1
=2 %73 =1.1
Solve each expression.
2. _ 4_ 52, .4 (1)
) 6°=3.6+28.13—44.13 ) 23 35+15x<3>
2
6 5
2 ¥ .2 .11
3) 07-32+09 4) 4><(5>—3§73+11
-9.3 9
7.,.3.(3)_31 N S
5) 6+4.<4> 32 6) 1.8=006+2°x24—198
-1 29.4
2.5 .51 3_ N
7) R 2 8) 022-183+225+15
4
nd -3.292
5 3.29
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